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If called back for NESTOR: sing in whatever

octave is most comfortable until m. 37
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Dalangin (Piano/Vocal) - 3
If called back for NESTOR: sing up to m.

46 up the octave (start on middle C)
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NESTOR: sing below
middle C until m. 43

ko
ko

E7/G#

see his

— @

s

him
ma - li?

:

~———-
S~———

B

pa - ki -u - sap
4 o G &
pa - ki - u - sap

make

/F
mo.
.6.
z

kong

[y}
[ {an)

40 F/C

31 G
36




=

can you
for

ne - ver

|
I
hear
—

1

me,

—

=

Fa - ther

Dalangin (Piano/Vocal) - 4

for - give

LN

>
N
— Y /1
my
—
k= 3
on - ly
— 1%
%:i!t
I\
N g
L 3
° |4
<

my

- thing new

whatever octave is most comfortable till

If called back for NESTOR: sing in
the end of the excerpt
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